
  

if / else
def temp(t):
    if t > 90:
        print("hot!")
    else:
        print("okay")
    print("done")

t > 90 ?

print("okay") print("hot!")

print("done")

YESNO



  

if / else
def temp(t):
    if t > 90:
        print("hot!")
    else:
         
             
         
             
    print("done") t > 90 ?

print("hot!")

print("done")

YESNO



  

if / else
def temp(t):
    if t > 90:
        print("hot!")
    else:
        if t > 50:
            print("okay")
        else:
            print("brrr!")
    print("done") t > 90 ?

print("okay") print("hot!")

print("done")

YESNO

t > 50 ?

print("brrr!")

NO YES



  

if / elif / else
def temp(t):
    if t > 90:
        print("hot!")
    elif t > 50:
        print("okay")
    else:
        print("brrr!")
    print("done")

print("done")

t > 90 ?

print("brrr!")

NO

YES print("hot!")

t > 50 ?
YES print("okay")

NO



  

if / elif / else
def temp(t):
    if t > 90:
        print("hot!")
    elif t > 70:
        print("ahhhhh")
    elif t > 50:
        print("chilly")
    else:
        print("brrr!")
    print("done")

print("done")

t > 90 ?

print("brrr!")

NO

YES print("hot!")

t > 50 ?
YES print("chilly")

NO

t > 70 ?
YES print("ahhhhh")

NO



  

if / elif / else
def temp(t):
    if t > 90:
        print("hot!")
    elif t > 70:
        print("ahhhhh")
    elif t > 50:
        print("chilly")
    else:
        print("brrr!")
    print("done")

print("done")

t > 90 ?

print("brrr!")

NO

YES print("hot!")

t > 50 ?
YES print("chilly")

NO

t > 70 ?
YES print("ahhhhh")

NO

temp(95)  → hot!

temp(75)  ?→

temp(55)  ?→

temp(20)  ?→



  

if / elif / else
def temp(t):
    if t > 90:
        print("hot!")
    elif t > 70:
        print("ahhhhh")
    elif t > 50:
        print("chilly")
    else:
        print("brrr!")
    print("done")

print("done")

t > 90 ?

print("brrr!")

NO

YES print("hot!")

t > 50 ?
YES print("chilly")

NO

t > 70 ?
YES print("ahhhhh")

NO

temp(95)  → hot!

temp(75)  → ahhhhh

temp(55)  ?→

temp(20)  ?→



  

if / elif / else
def temp(t):
    if t > 90:
        print("hot!")
    elif t > 70:
        print("ahhhhh")
    elif t > 50:
        print("chilly")
    else:
        print("brrr!")
    print("done")

print("done")

t > 90 ?

print("brrr!")

NO

YES print("hot!")

t > 50 ?
YES print("chilly")

NO

t > 70 ?
YES print("ahhhhh")

NO

temp(95)  → hot!

temp(75)  → ahhhhh

temp(55)  → chilly

temp(20)  ?→



  

if / elif / else
def temp(t):
    if t > 90:
        print("hot!")
    elif t > 70:
        print("ahhhhh")
    elif t > 50:
        print("chilly")
    else:
        print("brrr!")
    print("done")

print("done")

t > 90 ?

print("brrr!")

NO

YES print("hot!")

t > 50 ?
YES print("chilly")

NO

t > 70 ?
YES print("ahhhhh")

NO

temp(95)  → hot!

temp(75)  → ahhhhh

temp(55)  → chilly

temp(20)  → brrr!



  

What about this version?
def temp2(t):
    if t < 90:
        print("ahhhhh")
    elif t < 70:
        print("chilly")
    elif t < 50:
        print("brrr!")
    else:
        print("hot!")
     

t < 90 ?

print("hot!")

NO

YES print("ahhhhh")

t < 50 ?
YES print("brrr!")

NO

t < 70 ?
YES print("chilly")

NO

temp2(95)  → ?

temp2(75)  ?→

temp2(55)  ?→

temp2(20)  ?→



  

What about this version?
def temp2(t):
    if t < 90:
        print("ahhhhh")
    elif t < 70:
        print("chilly")
    elif t < 50:
        print("brrr!")
    else:
        print("hot!")
     

t < 90 ?

print("hot!")

NO

YES print("ahhhhh")

t < 50 ?
YES print("brrr!")

NO

t < 70 ?
YES print("chilly")

NO

temp2(95)  → hot!

temp2(75)  ?→

temp2(55)  ?→

temp2(20)  ?→



  

What about this version?
def temp2(t):
    if t < 90:
        print("ahhhhh")
    elif t < 70:
        print("chilly")
    elif t < 50:
        print("brrr!")
    else:
        print("hot!")
     

t < 90 ?

print("hot!")

NO

YES print("ahhhhh")

t < 50 ?
YES print("brrr!")

NO

t < 70 ?
YES print("chilly")

NO

temp2(95)  hot!→

temp2(75)  → ahhhhh

temp2(55)  ?→

temp2(20)  ?→



  

What about this version?
def temp2(t):
    if t < 90:
        print("ahhhhh")
    elif t < 70:
        print("chilly")
    elif t < 50:
        print("brrr!")
    else:
        print("hot!")
     

t < 90 ?

print("hot!")

NO

YES print("ahhhhh")

t < 50 ?
YES print("brrr!")

NO

t < 70 ?
YES print("chilly")

NO

temp2(95)  hot!→

temp2(75)  → ahhhhh

temp2(55)  → ahhhhh

temp2(20)  ?→



  

What about this version?
def temp2(t):
    if t < 90:
        print("ahhhhh")
    elif t < 70:
        print("chilly")
    elif t < 50:
        print("brrr!")
    else:
        print("hot!")
     

t < 90 ?

print("hot!")

NO

YES print("ahhhhh")

t < 50 ?
YES print("brrr!")

NO

t < 70 ?
YES print("chilly")

NO

temp2(95)  hot!→

temp2(75)  → ahhhhh

temp2(55)  → ahhhhh

temp2(20)  → ahhhhh



  

“one-armed” if
def temp3(t):
    if t > 90:
        print("hot!")
    else:
        pass
    print("done")

t > 90 ?

    pass print("hot!")

NO YES

print("done")



  

“one-armed” if
def temp3(t):
    if t > 90:
        print("hot!")
    print("done")
    

t > 90 ?

print("hot!")

NO

YES

print("done")


	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16

